alphal3_4eX1X

0.5

0.3

0.2

0.1

deltad6_12X4eY

4l

N

alphal3_4eX1X:cyclenum {run == 6211}

T
.
N
N

0_|_|J._|_|_|_|_i_|_|_|_%é|||i||||i||||i||||i||
5765 5765.5 5 5766.5 5767 5767.5 5768

cyclenum

delta46_12X4eY:cyclenum {run == 6211}
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run:cyclenum {run == 6211}
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usl_4eY:cyclenum {run == 6211}
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usl_12X:cyclenum {run == 6211}
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run:cyclenum {run == 6211}
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usr_1X:cyclenum {run == 6211}
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usl_coil6:cyclenum {run == 6211}
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usl_coil3:cyclenum {run == 6211}
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usl_coil7:cyclenum {run == 6211}
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usl_coil4:cyclenum {run == 6211}
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run:cyclenum {run == 6211}
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cyclenum



usr_coill:cyclenum {run == 6211} usr_coil3:cyclenum {run == 6211} usr_coil4:cyclenum {run == 6211}
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1X_coill:cyclenum {run == 6211} 1X_coil3:cyclenum {run == 6211} 1X_coil7:cyclenum {run == 6211}
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4eX_coill:cyclenum {run == 6211} 4eX_coil3:cyclenum {run == 6211} 4eX_coil7:cyclenum {run == 6211}

N N o Of S
304 Yoo A R 8t g
POE 3 °F 3 250
B0l R PP AEPEPY PEPERE PEPEPE EPEPRPS ERPPRE S SOt M
r =10
-306 asE 200
-307F : -0
F : E 150
-308 . “25F
E : -30f
-309F : F 100
o . . -35F L
-310F : : E C
F : : : oK -40F 501~
311 [SEREPE ORPEPE REREER EREREREIEE E C
Eos X -4s5F r oo
PYPY NN T BT N BT BN P I F I TN I BT B BT 0 AT T U PR
5765 57655 5766 5766.5 5767 5767.5 5768 5765 57655 5766 5766.5 5767 5767.5 5768 S T T T

cyclenum cyclenum cyclenum




yclenum {run == 6211}
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yclenum {run == 6211}
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12X_coil6:cyclenum {run == 6211}
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